



## PROBLEM:

In each of the following cases, simplify the expression using the properties of the continuous-time unit impulse signal. Provide some **explanation** or intermediate steps for each answer.

$$(a) \int_{-\infty}^{t-1} \delta(\tau + 3) e^{\tau} d\tau =$$

$$(b) \frac{d}{dt} \{e^{-3t} u(t - 1)\} =$$



In each of the following cases, simplify the expression using the properties of the continuous-time unit impulse signal. Provide some **explanation** or intermediate steps for each answer.

$$(a) \int_{-\infty}^{t-1} \delta(\tau + 3) e^{\tau} d\tau = e^{-3} \int_{-\infty}^{t-1} \delta(\tau + 3) d\tau : \text{SIFTING PROPERTY.}$$

$$= e^{-3} u(\tau + 3) \Big|_{-\infty}^{t-1} : \delta = \frac{du}{dt}$$

$$= \boxed{e^{-3} u(t+2)} : \text{EVALUATION AT LIMITS}$$

$$(b) \frac{d}{dt} \{e^{-3t} u(t-1)\} = e^{-3t} \frac{du(t-1)}{dt} + (-3) e^{-3t} u(t-1) : \text{PRODUCT RULE}$$

$$= e^{-3t} \delta(t-1) - 3 e^{-3t} u(t-1) : \delta = \frac{du}{dt}$$

$$= \boxed{e^{-3t} \delta(t-1) - 3 e^{-3t} u(t-1)} : \text{SIFTING PROPERTY}$$